

SOME RESULTS AND APPLICATIONS OF THE EXPONENTIAL TRANSFORM

NAGNATH S. AMBARKHANE, SACHIN P. HATKAR and KIRANKUMAR L. BONDAR

Department of Mathematics Science College, Nanded, Maharashtra, India

Department of Mathematics A.E.S. Arts, Commerce and Science College Hingoli, Maharashtra, India

Department of Mathematics Govt. Vidarbha Institute of Science and Humanities Amravati, Maharashtra, India E-mail: ambarkhanen@gmail.com

Abstract

In this paper we have obtained some results of the exponential transform like exponential transform of partial derivatives, Initial value theorem and Final value theorem and discussed some applications of the exponential transform to evaluate definite integral, to finding solutions of partial differential equation, simultaneous differential equation and integral equation.

1. Introduction

Many integral transforms specially Laplace transforms is useful to find the solution of integral equations, solution initial value problem and boundary value problem. It is also useful to solve definite integrals, it is also useful to find solution of difference, differential difference equations also useful in transfer function and impulse response function of a linear system, fractional differential equation, partial differential equations.

²⁰²⁰ Mathematics Subject Classification: 05A15, 11B68, 34A05.

Keywords: exponential transform, initial value theorem, final value theorem, integral equation, definite integral.

Received July 15, 2022; Accepted September 4, 2022

2142 N. S. AMBARKHANE, S. P. HATKAR and K. L. BONDAR

Recently N. S. Ambarkhane, H. A. Dhirbasi, K.L. Bondar [1] introduced an integral transform named "Exponential transform" and proved its some properties like Linearity, Shifting, Second Shifting, Change of Scale. Moreover, exponential transform of some basic functions are derived. Ambarkhane Nagnath S., Bondar Kirankumar L. [2] discussed convolution theorem and the exponential transform of derivatives and integrations of a function f(t). Nagnath S. Ambarkhane [3] discussed some results and application of the inverse exponential transform. Several authors [4-16] discussed the applications of different integral transformations along with its results.

Like Laplace transforms we have some significant applications of Exponential transform to finding solution of initial value problems, evaluating some definite integrals, solution of partial differential equation, to find the solution of simultaneous differential equations and to find the solution of integral equations. The main aim of this paper is to obtain some results and applications of the exponential transform.

2. Preliminaries

2.1. Exponential transform

Definition 2.1 [1]. Let f(t) be function defined for all positive values of t, then

$$\bar{f}(s) = \int_{0}^{\infty} a^{-st} f(t) dt, \ a > 1.$$

Provided the integral exists is called exponential transform of f(t). It is denoted by A[f(t)]. Thus,

$$A[f(t)] = \bar{f}(s) = \int_{0}^{\infty} a^{-st} f(t) dt, \ a > 1$$

Here A is called exponential transformation operator, the parameter s is real or complex number.

0.

2.2. Exponential transform of some functions [1]:

(i)
$$A[1] = \frac{1}{(s \log a)}, a > 1, \operatorname{Re}(s) > 0.$$

(ii) $A[t^n] = \frac{n!}{(s \log a)^{n+1}}, a > 1, n \ge 0 \operatorname{Re}(s) > 0.$

(iii)
$$A[t^n] = \frac{\Gamma(n+1)}{(s \log a)^{n+1}}, n > -1, a > 1, \operatorname{Re}(s) > 0.$$

(iv)
$$A[e^{kt}] = \frac{n!}{(s \log a - k)^{n+1}}, a > 1, (s \log a) > k, \operatorname{Re}(s) > 0.$$

(vii)
$$A[\sinh kt] = \frac{n!}{(s \log a)^2 - k^2}, a > 1, (s \log a)^2 > k^2 \operatorname{Re}(s) > 0.$$

(viii)
$$A[\sin kt] = \frac{k}{(s \log a)^2 + k^2}$$
, $a > 1$, $\operatorname{Re}(s) > 0$.

(ix)
$$A[\cos kt] = \frac{(s \log a)}{(s \log a)^2 + k^2}$$
, $a > 1$, $\operatorname{Re}(s) > 0$.

2.3. Exponential transform of derivatives [2]

Theorem 2.3.1. If $A[f(t)] = \overline{f}(s)$, then $A[f'(t)] = (s \log a) A[f(t)] - f(0)$.

Theorem 2.3.2. If $A[f(t)] = \bar{f}(s)$, then

$$A[f''(t)] = (s \log a)^2 A[f(t)] - (s \log a) f(0) - f'(0).$$

Theorem 2.3.3. If $A[f(t)] = \bar{f}(s)$, then

$$A[f''(t)] = (s \log a)^2 A[f(t)] - (s \log a)^2 f(0) - (s \log a)f'(0) - f''(0).$$

Theorem 2.3.4. If $A[f(t)] = \bar{f}(s)$, then

$$A[f^{n}(t)] = (s \log a)^{n} A[f(t)] - (s \log a)^{n-1} f(0) - (s \log a)^{n-2} f'(0)$$
$$- (s \log a)^{n-3} f''(0) - \dots - f^{n-1}(0).$$

2.4. Exponential transform of integration [2]

Theorem 2.4.1. If $A[f(t)] = \bar{f}(s)$, then

$$A\left[\int_0^t f(t)dt\right] = \frac{1}{(s\log a)}\bar{f}(s)$$

2.5. Exponential transform of a function multiplied by t [2]

Theorem 2.5.1. *If* $A[f(t)] = \bar{f}(s)$ *, then*

$$A[t^n.f(t)] = \left[\frac{(-1)^n}{(\log a)^n}\right]\frac{d^n}{ds^n}[\bar{f}(s)].$$

2.6. Exponential transform of a function divided by *t* [2]

Theorem 2.6.1. If $A[f(t)] = \bar{f}(s)$, then

$$A\left[\frac{1}{t}f(t)\right] = (\log a) \int_{s}^{\infty} \bar{f}(s) ds.$$

2.7. Inverse exponential transform [3]

Definition 2.7.1. If the Exponential Transform of a function f(t) is $\bar{f}(s)$ i.e. $A[f(t)] = \bar{f}(s)$, then f(t) is called as Inverse Exponential Transform of $\bar{f}(s)$ and is written as $f(t) = A^{-1}[\bar{f}(s)]$.

 A^{-1} is called the Inverse Exponential Transformation operator.

2.8. Inverse exponential transform of some functions [3]

Using definition of inverse exponential transform we get,

- [1] $A^{-1}\left[\frac{1}{s\log a}\right] = 1, \quad a > 1, \ (s\log a) > 0.$
- [II] $A^{-1}\left[\frac{1}{(s\log a)^{n+1}}\right] = \frac{t^n}{n!}, \quad a > 1, (s\log a) > 0, n = 0, 1, 2, 3, \dots$

[III]
$$A^{-1}\left[\frac{1}{(s\log a) - k}\right] = e^{kt}, \quad a > 1, (s\log a) > k.$$

$$\begin{split} &[\mathrm{IV}] \ A^{-1} \left[\frac{(s \log a)}{(s \log a) - k^2} \right] = \cosh kt, \quad a > 1, \, (s \log a)^2 > k^2. \\ &[\mathrm{V}] \ A^{-1} \left[\frac{1}{(s \log a)^2 - k^2} \right] = \frac{1}{k} \, (\sinh kt), \quad a > 1, \, k > 0, \, (s \log a)^2 > k^2. \\ &[\mathrm{VI}] \ A^{-1} \left[\frac{1}{(s \log a)^2 - k^2} \right] = \frac{1}{k} \, (\sinh kt), \quad a > 1, \, k > 0. \\ &[\mathrm{VII}] \ A^{-1} \left[\frac{(s \log a)}{(s \log a)^2 - k^2} \right] = \cos kt, \quad a > 1. \end{split}$$

3. Main Results

3.1. Initial value theorem

Theorem 3.1.1. *If* $A[f(t)] = \bar{f}(s)$ *, then*

$$\lim_{t \to 0} f(t) = \lim_{s \to \infty} [(s \log a).\overline{f}(s)].$$

Proof. We have,

$$A[f'(t)] = (s \log a).\bar{f}(s) - f(0)$$
$$\int_{0}^{\infty} a^{-st} f'(s) dt = (s \log a).\bar{f}(s) - f(0)$$

Taking $s \to \infty$

$$\lim_{s \to \infty} \int_{0}^{\infty} a^{-st} f'(t) dt = \lim_{s \to \infty} [(s \log a) \cdot \overline{f}(s) - f(0)]$$

$$\lim_{s \to \infty} [(s \log a).\bar{f}(s)] = f(0) + \int_{0}^{\infty} [\lim_{s \to \infty} a^{-st}] f'(t) dt$$

$$\lim_{s \to \infty} [(s \log a).\bar{f}(s)] = f(0) + \int_{0}^{\infty} 0 \cdot f'(t)dt$$
$$\lim_{s \to \infty} [(s \log a).\bar{f}(s)] = f(0) + 0$$
$$\lim_{s \to \infty} [(s \log a).\bar{f}(s)] = f(0)$$
$$\lim_{s \to \infty} [(s \log a).\bar{f}(s)] = \lim_{t \to 0} f(t)$$
$$\therefore \lim_{t \to 0} f(t) = \lim_{s \to \infty} [(s \log a).\bar{f}(s)].$$

3.2. Final value theorem

Theorem 3.2.1. If $A[f(t)] = \bar{f}(s)$, then $\lim_{t \to \infty} f(t) = \lim_{s \to 0} [(s \log a).\bar{f}(s)].$

Proof. We have,

$$A[f'(t)] = (s \log a).\bar{f}(s) - f(0)$$
$$\int_{0}^{\infty} a^{-st} f'(t) dt = (s \log a).\bar{f}(s) - f(0)$$

Taking $s \to 0$

$$\lim_{s \to 0} \int_{0}^{\infty} a^{-dt} f'(t) dt = \lim_{s \to 0} [(s \log a) \cdot \bar{f}(s) - f(0)]$$

$$\lim_{s \to 0} [(s \log a).\bar{f}(s)] = f(0) + \int_{0}^{\infty} [\lim_{s \to 0} a^{-st}] f'(t) dt$$

$$\lim_{s \to 0} [(s \log a).\bar{f}(s)] = f(0) + \int_{0}^{\infty} f'(t)dt$$

 $\lim_{s \to 0} [(s \log a).\bar{f}(s)] = f(0) + [f(t)]_0^{\infty}$

$$\lim_{s \to 0} [(s \log a).\bar{f}(s)] = f(0) + \lim_{t \to \infty} f(t) - f(0)$$
$$\lim_{s \to 0} [(s \log a).\bar{f}(s)] = \lim_{t \to \infty} f(t)$$
$$\therefore \lim_{t \to \infty} f(t) = \lim_{s \to 0} [(s \log a).\bar{f}(s)].$$

3.3. Exponential transform of partial derivatives

Theorem 3.3.1. If
$$y = y(x, t)$$
, then

(I)
$$A\left[\frac{\partial y}{\partial t}\right] = (s \log a).\overline{y}(x, s) - y(x, 0),$$

(II) $A\left[\frac{\partial^2 y}{\partial t^2}\right] = (s \log a)^2 \overline{y}(x, s) - (s \log a).y(x, 0) - y_t(x, 0),$
(III) $A\left[\frac{\partial y}{\partial x}\right] = \frac{d\overline{y}}{dx},$
(IV) $A\left[\frac{\partial^2 y}{\partial x^2}\right] = \frac{d^2\overline{y}}{dx^2},$

Where $A[y(x, t)] = \overline{y}(x, s), y_t(x, s), y_t(x, 0) = \left[\frac{\partial y}{\partial t}\right]_{t=0}$.

Proof. (I) We have,

$$\begin{split} A\left[\frac{\partial y}{\partial t}\right] &= \int_{0}^{\infty} a^{-st} \left(\frac{\partial y}{\partial t}\right) dt \\ A\left[\frac{\partial y}{\partial t}\right] &= \lim_{k \to \infty} \int_{0}^{k} a^{-st} \left(\frac{\partial y}{\partial t}\right) dt \\ A\left[\frac{\partial y}{\partial t}\right] &= \lim_{k \to \infty} \left[[a^{-st} y(x, t)]_{t=0}^{k} + (s \log a) \int_{0}^{k} a^{-st} y(x, t) dt \right] \\ A\left[\frac{\partial y}{\partial t}\right] &= \left[[-y(x, 0)] + (s \log a) \int_{0}^{\infty} a^{-st} y dt \right] \end{split}$$

$$\therefore A\left[\frac{\partial y}{\partial t}\right] = (s \log a).\overline{y}(x, s) - y(x, 0).$$
(II) Let $v = \left[\frac{\partial y}{\partial t}\right] = y_t$, then
$$A\left[\frac{\partial^2 y}{\partial t^2}\right] = \left[\frac{\partial v}{\partial t}\right]$$

$$A\left[\frac{\partial^2 y}{\partial t^2}\right] = (s \log a).\overline{v}(x, s) - v(x, 0) \text{ by (I)}$$

$$A\left[\frac{\partial^2 y}{\partial t^2}\right] = (s \log a).A[v] - y, (x, 0)$$

$$A\left[\frac{\partial^2 y}{\partial t^2}\right] = (s \log a).[(s \log a).\overline{y}(x, s) - y(x, 0)] - y_t(x, 0) \text{ by (I)}$$

$$\therefore A\left[\frac{\partial^2 y}{\partial t^2}\right] = (s \log a)^2 \overline{y}(x, s) - (s \log a).y(x, 0) - y_t(x, 0).$$

(III) We have,

$$A\left[\frac{\partial y}{\partial x}\right] = \int_{0}^{\infty} a^{-st} \left(\frac{\partial y}{\partial x}\right) dy$$
$$A\left[\frac{\partial y}{\partial x}\right] = \frac{d}{dx} \int_{0}^{\infty} a^{-st} y dy$$
$$A\left[\frac{\partial y}{\partial x}\right] = \frac{d}{dx} A[y(x, t)]$$
$$\therefore A\left[\frac{\partial y}{\partial x}\right] = \frac{d\overline{y}}{dx}.$$

(IV) We have,

$$A\left[\frac{\partial^2 y}{\partial x^2}\right] = A\left[\frac{\partial u}{\partial x}\right], \text{ where } u = \frac{\partial y}{\partial x}$$

$$A\left[\frac{\partial^2 y}{\partial x^2}\right] = \frac{d}{dx} A[u]$$
$$A\left[\frac{\partial^2 y}{\partial x^2}\right] = \frac{d}{dx} A\left[\frac{\partial y}{\partial x}\right]$$
$$A\left[\frac{\partial^2 y}{\partial x^2}\right] = \frac{d}{dx} \left(\frac{d\overline{y}}{dx}\right) \text{ by (III)}$$
$$\therefore A\left[\frac{\partial^2 y}{\partial x^2}\right] = \frac{d^2\overline{y}}{dx^2}.$$

3.4. Application to evaluating some definite integrals

Example 3.4.1. Consider the definite integral $\int_{0}^{\infty} t \cdot e^{-3t} \sin t \cdot dt$

Let
$$I = \int_{0}^{\infty} e^{-3t} (t \sin t) dt$$

Put, $3 = (s \log a)$

$$\therefore I = \int_{0}^{\infty} e^{-(s \log a)t} (t \sin t) dt$$
$$\therefore I = \int_{0}^{\infty} a^{-st} (t \sin t) dt$$
$$\therefore I = \int_{0}^{\infty} e^{-(s \log a)t} (t \sin t) dt$$
$$\therefore I = A[t. \sin t]$$
$$\therefore I = -\frac{1}{(\log a)} \frac{d}{ds} \left[\frac{1}{(s \log a)^{2} + 1} \right]$$

$$\begin{split} I &= -\frac{1}{(\log a)} \left[-\frac{1}{[(s \log a)^2 + 1]^2} \times (2s \log a) \times (\log a) \right] \\ I &= -\frac{2(s \log a)}{[(s \log a)^2 + 1]^2} \\ I &= \frac{2 \times 3}{[9 + 1]^2} \\ I &= \frac{6}{[10]^2} \\ \therefore I &= \frac{3}{50} \\ \therefore \int_0^\infty t \cdot e^{-3t} \sin t dt = \frac{3}{50} \, . \end{split}$$

3.5. Application to Partial Differential Equation (PDE)

Example 3.5.1. Consider the PDE,

$$\frac{\partial y}{\partial x} - \frac{\partial y}{\partial t} = 1 - e^{-t}, \ 0 < x < 1, \ t > 0, \ \text{given that } y(x, \ 0) = x$$

By taking exponential transform, we get

$$\frac{d\bar{y}}{dx} - [(s\log a).\bar{y} - y(x, 0)] = \frac{1}{(s\log a)} - \frac{1}{(s\log a + 1)}$$
$$\frac{d\bar{y}}{dx} - (s\log a).\bar{y} + x = \frac{1}{(s\log a)} - \frac{1}{(s\log a + 1)}$$
$$\frac{d\bar{y}}{dx} - (s\log a).\bar{y} = \frac{1}{(s\log a)} - \frac{1}{(s\log a + 1)} - x$$
$$\frac{d\bar{y}}{dx} - (s\log a).\bar{y} = \frac{1}{(s\log a)(s\log a + 1)} - x \quad (3.5.1)$$

It is linear equation,

$$\therefore I.F. = e^{-\int (s \log a) dx}$$

The solution of (3.5.1) is given by,

$$\begin{aligned} \overline{y}e^{-(s\log a)x} &= c + \int \left[\frac{1}{(s\log a)(s\log a + 1)} - x \right] e^{-(s\log a)x} dx \\ \overline{y}e^{-(s\log a)x} &= c + \int \left[\frac{1}{(s\log a)(s\log a + 1)} \right] e^{-(s\log a)x} dx - \int x e^{-(s\log a)x} dx \\ \overline{y}e^{-(s\log a)x} &= c + \frac{1}{(s\log a)(s\log a + 1)} \left[\frac{e^{-(s\log a)x}}{-(s\log a)} \right] \\ &- \left[\frac{xe^{-(s\log a)x}}{-(s\log a)} - \int \frac{e^{-(s\log a)x}}{-(s\log a)} dx \right] \\ \overline{y}e^{-(s\log a)x} &= c + \frac{1}{(s\log a)(s\log a + 1)} \left[\frac{e^{-(s\log a)x}}{-(s\log a)} \right] \\ &- \left[\frac{xe^{-(s\log a)x}}{-(s\log a)} - \int \frac{e^{-(s\log a)x}}{-(s\log a)} dx \right] \\ \overline{y}e^{-(s\log a)x} &= c + \frac{1}{(s\log a)(s\log a + 1)} \left[\frac{e^{-(s\log a)x}}{-(s\log a)} \right] \\ &+ \frac{xe^{-(s\log a)x}}{(s\log a)} - \int \frac{e^{-(s\log a)x}}{-(s\log a)} dx \right] \\ &+ \frac{xe^{-(s\log a)x}}{(s\log a)} + \frac{e^{-(s\log a)x}}{(s\log a)^2} \\ &\div \overline{y} = ce^{-(s\log a)x} - \frac{1}{(s\log a)^2(s\log a + 1)} + \frac{x}{(s\log a)} + \frac{1}{(s\log a)^2} \\ &\div \overline{y} = ce^{(s\log a)x} + \frac{x}{(s\log a)} + \frac{1}{(s\log a)^2(s\log a + 1)} \\ &\div \overline{y} = ce^{(s\log a)x} + \frac{x}{(s\log a)} + \frac{1}{(s\log a)} - \frac{1}{(s\log a + 1)} \\ &\therefore \overline{y} = ce^{(s\log a)x} + \frac{x}{(s\log a)} + \frac{1}{(s\log a)} - \frac{1}{(s\log a + 1)} \\ &y \text{ is bounded} \Rightarrow \overline{y} \text{ is bounded} \Rightarrow \overline{y} \text{ is finite as } x \to \infty \Rightarrow c = 0 \end{aligned}$$

$$\therefore \overline{y} = \frac{x}{(s \log a)} + \frac{1}{(s \log a)} - \frac{1}{(s \log a + 1)}$$

By taking Inverse exponential transform, we get

 $y = x + 1 - e^{-t}.$

3.6. Application to integral equations

Example 3.6.1. Consider the Integral equation,

$$f(t) = 1 + \int_{0}^{t} f(u)\sin(t-u)du$$

The given equation is expressed as

$$f(t) = 1 + f(t) * \sin t$$

By taking exponential transform, we get

$$\bar{f}(s) = \frac{1}{(s \log a)} + \bar{f}(s) \cdot \frac{1}{(s \log a)^2 + 1}$$
$$\bar{f}(s) - \frac{1}{(s \log a)^2 + 1} \bar{f}(s) = \frac{1}{(s \log a)}$$
$$\left[1 - \frac{1}{(s \log a)^2 + 1}\right] \bar{f}(s) = \frac{1}{(s \log a)}$$
$$\bar{f}(s) = \frac{(s \log a^2) + 1}{(s \log a)(s \log a)^2}$$
$$\bar{f}(s) = \frac{1}{(s \log a)} + \frac{1}{(s \log a)^3}$$

By taking Inverse exponential transform, we get

$$A^{-1}[\bar{f}(s)] = A^{-1}\left[\frac{1}{(s\log a)}\right] + A^{-1}\left[\frac{1}{(s\log a)^3}\right]$$

$$\therefore f(t) = 1 + \frac{t^2}{2}.$$

3.7. Application to Simultaneous Differential Equations

Example 3.7.1. Consider the Simultaneous Differential Equations

$$\frac{dx}{dt} + y = 0, \ \frac{dy}{dt} - x = 0, \ \text{if } x(0) = 1, \ y(0) = 0$$

Given equations can be written as,

x' + y = 0y' - x = 0

By taking exponential transform, we get

$$[(s \log a)\overline{x} - x(0)] + \overline{y} = 0$$

 $\left[(s\log a)\overline{y} - y(0)\right] - \overline{x} = 0$

Using conditions, we get

$$(s\log a)\overline{x} + \overline{y} = 1$$

 $(s\log a)\overline{y} + \overline{x} = 0$

Solving above equations for \overline{x} and \overline{y} , we get

$$\bar{x} = \frac{(s \log a)}{(s \log a)^2 + 1}, \ \bar{y} \frac{1}{(s \log a)^2 + 1}$$

By taking Inverse exponential transform, we get

$$A^{-1}[\bar{x}] = A^{-1}\left[\frac{(s\log a)}{(s\log a)^2 + 1}\right], A^{-1}[\bar{y}] = A^{-1}\left[\frac{1}{(s\log a)^2 + 1}\right]$$

 $\therefore x = \cos t, y = \sin t.$

4. Conclusion

In this work we have obtained some results of the exponential transform like exponential transform of partial derivatives, Initial value theorem and Final value theorem and discussed some applications of the exponential transform to evaluate definite integral, to finding solutions of partial differential equation, simultaneous differential equation, and integral equation.

References

- N. S. Ambarkhane, H. A. Dhirbasi and K. L. Bondar, Exponential transform and its properties, International Journal of Mathematics Trends and Technology 65(I9) (2019), 25-34.
- [2] S. Ambarkhane Nagnath and L. Bondar Kirankumar, Convolution theorem and the exponential transform of derivatives and integrations of the function f(t), Advances and Applications in Mathematical Sciences 20(10) (2021) 2435-2445.
- [3] Nagnath S. Ambarkhane, On some results and application of the inverse exponential transform, International Journal of Mathematics Trends and Technology 67(8) (2021), 57-67.
- [4] L. C. Andrews and B. K. Shivamoggi, Integral Transform for Engineers, New Delhi: PHI Learning Private Limited, (2009).
- [5] H. K. Dass, Advanced Engineering Mathematics. New Delhi: S Chand and Company Ltd, (1988).
- [6] L. Debnath and D. Bhatta, Integral Transforms and their Applications, Chapman nad Hall/CRC, Taylor and Francis group, (2007).
- [7] J. K. Goyal and K. P. Gupta, Integral Transform, Meerut: Pragati Prakashan, (2010).
- [8] B. S. Grewal and J. S. Grewal, Higher Engineering Mathematics, Delhi: Khanna Publishers, (2003).
- [9] E. I. Jury, Theory and Application of the Z-Transform, John Wiley and Sons, New York, (1964).
- [10] I. N. Sneddon, Fourier Transforms, McGraw-Hill, New York, (1951).
- [11] I. N. Sneddon, The Use of Integral Transforms, McGraw-Hill Book Company, New York, (1972).
- [12] C. J. Tranter, Integral Transforms in Mathematical Physics, (Third Edition), Methuen and Company Ltd., London, (1966).
- [13] E. J. Watson, Laplace Transforms and Applications, Van Nostrand Reinhold, New York, (1981).
- [14] D. V. Widder, The Laplace Transform, Princeton University Press, Princeton, New Jersey, (1941).
- [15] N. Winer, The Fourier Integral and Certain of Its Applications, Cambridge University Press, Cambridge, (1932).
- [16] A. H. Zemanian, Generalized Integral Transformations, John Wiley and Sons, New York, (1969).